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高二英语Unit15同步练习（2）
一、单项选择题

1._________so hard, he wouldn’t have passed the exam.
A. Hadn’t he worked  B.  Hasn’t he worked   C. Shouldn’t he work  D.  Wouldn’t he work


2.He has a little money put _______so as to take a holiday.
A. aside   B. off C. down   D. into


3.People _______ believe that the earth was flat.
A. used to   B. would   C. should   D. were used to


4.The car manufacture has _________1,000 workers because of the drop in sales.
A. picked out   B. gave up  C. dealt with  D. laid off


5.We were swimming in the lake ___________suddenly the storm started.
A. when   B. while C. until  D. before


6.As is known to all, China is a ___country _____ to the third world.
A. developed; belonged    B. developing; belonging
C. developing; belongs    D. developed; is belonging


7. 

The speed by the mayor of Shanghai before the final voting for EXPRO2001 is strongly impressed ______my memory.
A. to   B. over  C. by  D. on


8.The people living in these apartments have free________ to the library.
A. time   B. entrance   C. charge  D. access


9.It was _______experience that made them lose the chance.
A. a lack with  B. lack  from C. their lack for  D. their lack of


10.The research is so designed that once _________nothing can be done to change it.
A. begins     B.  having begun  C. beginning   D begun

二、阅读理解
1. 

    Millions of years ago dinosaurs (恐龙) lived on the earth. In the days of dinosaurs the whole earth was warm and wet. There were green forests and they could find enough to eat. Later, parts of the earth became cold and dry. and the forests there died. Then dinosaurs could not find enough to cat. This must be one reason why dinosaurs died out. 
    We can guess another reason. New kinds of animals came on the earth. Some had big brains and were fast and strong. They could kill dinosaurs. There may be other reasons that we don’t know about yet. Scientists are trying to make more discoveries about dinosaurs. 
    Dinosaurs were of many sizes and shapes (形状).  Some were as small as chickens, while some were about 90 feet long.
    There were also terrible fights between dinosaurs. They might have happened more than 100 million years ago. Though there was no man to see any of the fights, we can be told by the animal’s footprints (足迹) that fight did take place. 


(1).According to the passage, dinosaurs did exist only ______on the earth.
A. for millions of years                    B. millions of years ago
C. more than 100 millions years ago          D. when it was warm and wet somewhere


(2).One reason why dinosaurs died out is that______.
A. there were too many dinosaurs            B. parts of the earth became cold and dry
C. the dead forests there could not supply them with enough food
D. they couldn’t find enough to eat


(3).One more reason may be that ______.
A. new kinds of animals came on the earth
B. some fast and strong animals with big brains could kill them
C. some dinosaurs were as small as chickens       D. some big dinosaurs died in the fights


(4).We can see from this passage ______.
A. scientists are trying to make some dinosaurs    B. dinosaurs are dangerous enough
C. dinosaurs are worth studying                D. scientists know nothing about dinosaurs
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